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el 2,835,000 2,434,000 401,000
T 2e 2,835,000 2,404,000 431,000
AN (otE==SE3H) 2,835,000 2,404,000 431,000
AESg 22 34,650 30,350 4,300
82 AH| 24,900 20,600 4,300
AP 22| Hl 12,000 8,000 4,000
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03 =220l 5,000 5,000 0
O8I T2 =20l 5,000
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401 Al HI L £ 0HHI 120,000 250,000 A 130,000
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ot A E A 705,000 600,000 105,000
401 Al HI L 20| 705,000 600,000 105,000
01 A& bl 700,000 600,000 100,000
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ON4Es o8 & X 50,000
03 AlE 201l 5,000 0 5,000
Oot=S A E IS ALY 5,000
1,975,350 1,523,650 451,700
801 ol Bl gl 1,975,350 1,523,650 451,700
1 8ol Bl bl 1,975,350 1,523,650 451,700
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